LECTURE 2: Consumer Preferences and the
Consumer Choice

1. Consumer Preferences

2. Budget Constraints

3. Consumer Choice

4. Revealed Preference

5. Marginal Utility and Consumer Choice
6. Cost-of-Living Indexes
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 Theory of consumer behavior

« Description of how consumers allocate
Incomes among different goods and
services to maximize their well-being.
Consumer behavior is best understood in
three distinct steps:

1. Consumer preferences 2|l A& S (8 S)

2. Budget constraints 0l & A St
3. Consumer choices 24| A} EH



Basic Assumptions about Preferences

Preferences HS (E)

1.Completeness: Preferences are assumed to
be complete. In other words, consumers can
compare and rank all possible baskets. Thus,
for any two market baskets A and B, a
consumer will prefer Ato B, will prefer B to A, or
will be indifferent between the two. By
iIndifferent we mean that a person will be

equally satisfied with either basket.
* Note that these preferences ignore costs. A consumer
might prefer steak to hamburger but buy hamburger
because it is cheaper.



Basic Assumptions about Preferences

2. Transitivity:

Preferences are transitive. Transitivity means that if a
consumer prefers basket A to basket B and basket B to
basket C, then the consumer also prefers A to C. Transitivity
IS normally regarded as necessary for consumer
consistency.

3. More is better than less:

Goods are assumed to be desirable—i.e., to be good.
Consequently, consumers always prefer more of any good
to less. In addition, consumers are never satisfied or
satiated; more is always better, even if just a little better.
This assumption is made for pedagogic reasons; namely, it
simplifies the graphical analysis. Of course, some goods,
such as air pollution, may be undesirable, and consumers
will always prefer less. We ignore these “bads” in the
context of our immediate discussion.



Indifference Curves: An Example
N

The consumer prefers A to all
combinations in the blue box, while

all those in the pink box are preferred to A.
Clothing 50
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Food




Indifference Curves: An Example

_ 6|
Indifferent between B, A, & D
B *E Is preferred to U,
Clothing >0 ‘U, is preferredto H & G
H
40 ® ®E
30
20
10

10 20 30 40  Food



Indifference Map
N

Clothing Market basket A

Is preferred to B.
Market basket B is
preferred to D.

Food




Indifference Maps

Clothing

B is preferred to D

*Ais indifferent to B & D

*B must be indifferent to D but
that can’t be if B is preferred to D




Consumer Preferences: An

Application
a2 L ——

Styling

These consumers place a
greater value on styling than
performance

Performance



Marginal Rate of Substitution

Clothing 16

14
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10

38
6
4
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Food




Utility = = and Utility Functions = 2 & =

e The three assumptions about preferences allow us to
represent preferences with a utility function.

e Utility function 2 2& 4=

e — a function that measures the level of satisfaction a
consumer receives from any basket of goods and
services.

e — assigns a number to each basket so that more
preferred baskets get a higher number than less

preferred baskets.
» —U=uly)



The Utility Function: Implications

An ordinal concept: the precise magnitude of the
number that the function assigns has no
significance.

Utility not comparable across individuals.

Any transformation of a utility function that
preserves the original ranking of bundles is an

equally good representation of preferences. e.g. U =
vs. U = + 2 represent the same preferences.



Marginal Utility (MU) ° 128

Marginal Utility of a good vy

additional utility that the consumer gets from
consuming a little more of y

i.e. the rate at which total utility changes as the
level of consumption of good vy rises

MU, = AU/Ay
slope of the utility function with respect toy



Perfect Substitutes and Perfect
Complements

perfect substitutes Two goods for which the
marginal rate of substitution of one for the
other is a constant.

perfect complements Two goods for which
the MRS is zero or infinite; the indifference
curves are shaped as right angles.



Perfect Substitutes and Perfect
Complements

perfect substitutes 2t& CH A XH

Two goods for which the marginal rate of
substitution of one for the other I1s a constant.

perfect complements & 22t TH

Two goods for which the MRS is zero or infinite; the
Indifference curves are shaped as right angles.

Bads H|XH 3}
Good for which less is preferred rather than more.



Perfect Substitutes and Perfect
Complements

1
Perfect Perfect
Substitutes Complements
Left
Apple 4 Shoes
Juice 4
(glasses)
3
L] L
2
2|
1 Orange Juice 1
\ (glasses)
o 1 2 3 4 0 1 2 3 4 RightShoes



Consumer Preferences for BADS and GOODS

1 Bads Goods
Bads
U u U
Bads : < 1

Good for which less is preferred rather than more.



Utility

Formula that assigns a level of utility to individual
market baskets

If the utility function is
U(EC) = F + 2C

A market basket with 8 units of food and 3 units of clothing
gives a utility of

14 =8 + 2(3)



Utility - Example

Baskets for each level of utility can be plotted to
get an indifference curve
To find the indifference curve for a utility of 14, we can

change the combinations of food and clothing that give
us a utility of 14



Utility

Although we numerically rank baskets and
indifference curves, numbers are ONLY for ranking

A utility of 4 is not necessarily twice as good as utility

of 2

There are two types of ranking

Ordinal ranking AlZ=& & A

A K] A

Cardinal ranking J|Z=& &= A



Utility

N4X 5884

Places market baskets in the order of most preferred to
least preferred, but it does not indicate how much one
market basket is preferred to another.

4™ 5884

Utility function describing the extent to which one
market basket is preferred to another.

The actual unit of measurement for utility is not
Important.

An ordinal ranking is sufficient to explain how most
iIndividual



Budget Constraints ==[H L| A&

Indicates all combinations of two commodities for which
total money spent equals total income.

We assume only 2 goods are consumed, so we do not
consider savings



The Budget Line

The budget line then can be written:

PeF + PcC = |

All income is allocated to food (F) and/or clothing (C)



The Budget Line

Clothing The Budget Line: Assume income of 80/week,
(I/P.) = 4Q| A Prices are P-= 1and P. = 2

> AC 1 P

SlOpe:—: - -

AF 2 P
20
10

G
Food

0 20 40 60  80=(/P)



The Budget Line

| =P, X +P,Y
| -P, X =P,Y

| P, X Y
R R




The Budget Line - Changes

Clothing
(units
per week) A increase in
30 iIncome shifts
| the budget line
) outward

A decrease in
iIncome shifts
the budget line
iInward

(1= 160)

Food
(units per week)




Consumer Choice: LHE£6H Inner Solution

Clothing
(units per
week)

40

30

20

The maximizing market basket must satisfy two
conditions:

1. It must be located on the budget line.

2. It must give the consumer the most preferred
c@mbination of goods and services.

D A, B, C on budget line D highest utility
but not affordable C highest affordable
utility Consumer chooses C

Us

20 40 80  Food (units per week)



Consumer Choice: LHE£8H Inner Solution

Recall, the slope of an indifference curve is, Further,
the slope of the budget line is

AC Pr
P Slope o
Pr
MRS =

Pc



A Corner Solution:
MRS ( yogurt for ice cream > P(ice cream)/P(yogurt)

Frozen
Yogurt
(cups
monthly)

corner solution 2 A eladl
Situation in which the marginal rate of substitution of
one good for another in a chosen market basket is not
equal to the slope of the budget line.

U, U, U

A corner solution
exists at point B.

B  Ice Cream (cup/month)



A Corner Solution - Example

Other
Consumption

()

Education grant given by PB :
« °*Student is better off on U,
\ *B s corner solution MRS # P /Pg

Q Education ()



A Corner Solution - Example

Other |\
Consumption - |
() \\ If gift is unrestricted, the student
\ can be at point C on U,
\ \ C -Better off than with restricted gift

Q Education ()



Revealed Preferences “2“19

If we know the choices a consumer has made, we
can determine what their preferences are if we
have information about a sufficient number of
choices that are made when prices and incomes

vary.



Revealed Preferences — Two

Clothing
(units per
month)

Budget Lines

*[,: Chose A over B
A is revealed preferred to B
*|,: Choose B over D
l, *B is revealed preferred to D

Food (units per month)



Revealed Preferences — Two

Clothing
(units per
month)

Budget Lines

*l,: Chose A over B

A is revealed preferred to B
*l,: Choose B over D

B is revealed preferred to D

Food (units per month)



Revealed Preferences — Two

Clothing
(units per
month)

Budget Lines

*l,;: Chose A over B

A is revealed preferred to B
*l,: Choose B over D

B is revealed preferred to D

Food (units per month)



Revealed Preferences — Two

Clothing
(units per
month)

Budget Lines

*l,: Chose A over B
A is revealed preferred to B
*|,: Choose B over D
l, B is revealed preferred to D

Food (units per month)



Revealed Preference

As you continue to change the budget line,

individuals can tell you which basket they prefer to
others.

More the individual reveals, the more you can
discern about their preferences

Eventually you can map out an indifference curve



Revealed Preferences — Four

Budget Lines

Clothing
(units per
month)

l;: E revealed preferred to A

I3

All market baskets in the
pink area preferred to A

A: preferred to all
market baskets in

the yellow area

|,: G revealed preferred to A

Food (units per month)



